Multiplying Three Mon/Polynomials (H)

Ot

Simplify each expression.

(B =5 fN(—=9f* +8f — 1)(=3f* +4f +5)

(—37“4 + 33 — 77“2)(77“4 — 43 — 77“2)(—47“2 —6r+4)

3. —T72%(82% 4 82 + 9)(—92° — 3% — 21)

(30 + 8b) (20" + 1) (—b* — Tb* + 4b)

- —T75°(—25" — 35" + 55%)(—4s” — 95! — 85%)
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Multiplying Three Mon/Polynomials (H) Answers

(&g

Simplify each expression.

(B =5 fN(—=9f* +8f — 1)(=3f* +4f +5)

= 81f% —315f% + 270" + 158 f° — 195f° + 2514

(=3r* + 3r° — 7r?)(Tr* — 4r® — Tr?)(—4r® — 6r + 4)
— 84710 — 677 — 1221 + 344r" — 3987% — 2661° + 1967

—7a?(82% + 8x + 9)(—92° — 32% — 22)
= 504" + 6722°% + 8472° + 301z* + 1262°

- (30% 4 8b)(2b* 4 1) (—b* — Tb® + 4b%)

— —6b'0 — 6107 — 1178° + 2007 + 32°

C—75°(—25" — 35" + 55%)(—45" — 95 — 85%)

— 565 — 2105 — 161" + 147s'2 + 2805
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